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ID:224824 B Common

q Which mixed number is equivalent to 1.375?

A. 11
3

B. 13
8

C. 1 2
5

D. 1 3
4

ID:206251 AST07-right_triangle_35de C Common

e Look at this diagram.

1

35º

 What is the measure of ∠1?

A.  55°

B. 115°

C. 125°

D. 135°ID:224830 B Common

w Katie makes a necklace using the pattern of 
2 red beads followed by 3 blue beads. She 
uses a total of 75 beads for the necklace. 
How many red beads does Katie use?

A. 25

B. 30

C. 45

D. 50
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ID:224871 NG2106_pentagons.eps B Common

r Pentagon GHIJK ~ pentagon PQRST.

 K J

G H

I P Q

T

R

S
80º xº

10 cm

10 cm

7 cm

5 cm

5 cm

5 cm
2.5 cm

What is the value of x?

A.  40

B.  80

C. 100

D. 160

Mathematics

 

  Item selected from Session One—no 
calculators or other mathematics tools allowed.
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ID:233713 D Common

t Julia’s phone calling plan is based on a set 
price of $24.00 a month for local calls and 
$0.04 a minute for long distance calls. If 
Julia makes m minutes of long distance calls 
in a month, which expression represents her 
cost, in dollars, for that month?

A. m (24.00 – 0.04)

B. m (24.00 + 0.04)

C. 24.00m + 0.04

D. 24.00 + 0.04m

ID:233758 A Common

y Dan is fi lling a swimming pool with water 
at a constant rate. The table below shows the 
depth of the water over time.

Time Filling
(in hours)

Depth of Water
(in feet)

1
   

11
2

2 2

3
   

2 1
2

4 3

How can Dan calculate the depth of the water 
after 6 hours of fi lling?

A. Multiply 1
2

 by 6 and add 1.

B. Multiply 1 1
2

 by 6.

C. Multiply 2 1
2

 by 2.

D. Multiply 1 by 6 and add 1
2

.
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ID:224879 CC2101_Circle_Graph.eps A Common

u Lori is riding her bicycle around a circular 
track. Teri is standing at the center of the 
track. Which graph shows how the distance 
between Lori and Teri relates to the time 
since Lori started riding?
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ID:206302 A Common

i Kate uses the formula below to calculate the 
volume of a sphere with radius r.

V r= 4
3

3π

 What is the approximate volume of a sphere with 
a radius of 3 inches? (π is approximately 3.14)

A.  113 cubic inches

B.  339 cubic inches

C. 1017 cubic inches

D. 3052 cubic inches
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ID:224889 CC2105_Algebra_Tiles.eps B Common

o Look at this model.

Key

represents x

represents 1

 Which expression does the model show?

A. 9x

B. 4x + 5

C. x4 + 5x

D. x4 + 5

ID:224887 AL8206_Scale.eps A Common

a The scale shown below is balanced.

 Which statement is true?

A. weighs the same as

B. weighs the same as

C. weighs the same as  

D.  weighs the same as
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ID:224903 AL8306_Ramp.eps Common

s The ramp shown below is a triangular prism.

5 feet

12 feet

8 feet

13 feet

 What is the volume of the ramp in cubic feet?

ID:224917 CC2108_Compare.eps Common

d Look at this container.

 

 Water fl ows into this container at a constant rate. Look at Graph 1 and Graph 2 below.
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 Explain how you know which graph best represents the height of the water over time.
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ID:224932 Common

f Larry buys a sweater that has a regular price of $40. The sweater is on sale for 30% off. What is the 
sale price of the sweater? Show your work or explain how you know.

ID:224944 Common

g Triangle ABC has a base of 5 inches and a height of 4 inches. Triangle ABC is similar to triangle 
DEF. Triangle DEF has dimensions that are 3 times as great as those of triangle ABC. How many 
times as great is the area of triangle DEF compared to the area of triangle ABC? Show your work or 
explain how you know.

ID:246388 Common

h When a knight sets out on a quest, he must choose a road to follow.

  • 3 out of every 5 knights take the High Road. The others take the Low Road.

  • Of the knights taking the High Road, 80% are successful in their quest. The others fail.

  • Of the knights taking the Low Road, 40% are successful in their quest. The others fail.

 a. A knight is chosen at random. What is the probability he will take the Low Road? Show your   
 work or explain how you know.

 b. A knight is chosen at random. What is the probability he will take the High Road and succeed   
 in his quest? Show your work or explain how you know.

NECAP_2006_Grade 8 Math_Released_V1



7
NECAP_2006_Grade 8 Math_Released_V1

G
ra

de
 8

 M
at

he
m

at
ic

s 
R

el
ea

se
d 

It
em

 I
nf

or
m

at
io

n

R
el

ea
se

d 
It

em
 N

um
be

r
1

2
3

4
5

6
7

8
9

10
11

12
13

14
15

N
o 

To
ol

s 
A

ll
ow

ed

C
on

te
nt

 S
tr

an
d1

N
O

N
O

G
M

G
M

FA
FA

FA
FA

FA
FA

G
M

FA
N

O
G

M
D

P

G
L

E
 C

od
e

7-
2

7-
4

7-
2

7-
5

7-
1

7-
1

7-
2

7-
3

7-
3

7-
4

7-
6

7-
2

7-
4

7-
5

7-
5

D
ep

th
 o

f 
K

no
w

le
dg

e 
C

od
e

1
2

2
1

2
2

2
1

1
2

2
2

2
2

3

It
em

 T
yp

e2
M

C
M

C
M

C
M

C
M

C
M

C
M

C
M

C
M

C
M

C
S

A
S

A
S

A
S

A
C

R

A
ns

w
er

 K
ey

B
B

C
B

D
A

A
A

B
A

To
ta

l P
os

si
bl

e 
Po

in
ts

1
1

1
1

1
1

1
1

1
1

1
1

2
2

4

1 C
on

te
nt

 S
tr

an
d:

 
N

O
 =

 N
um

be
rs

 &
 O

pe
ra

ti
on

s,
 G

M
 =

 G
eo

m
et

ry
 &

 M
ea

su
re

m
en

t, 
FA

 =
 F

un
ct

io
ns

 &
 A

lg
eb

ra
, 

D
P

 =
 D

at
a,

 S
ta

ti
st

ic
s,

 &
 P

ro
ba

bi
li

ty

2 It
em

 T
yp

e:
  M

C
 =

 M
ul

ti
pl

e 
C

ho
ic

e,
 S

A
 =

 S
ho

rt
 A

ns
w

er
, C

R
 =

 C
on

st
ru

ct
ed

 R
es

po
ns

e



8
NECAP_2006_Grade 8 Math_Released_V1


